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—=0= 26,747 ,0002 *4. 5% 1,204
—AdLEE 26,747,000 »3.545% 949
—LoIE)QYEE
949,000 *12.95% 123
—1EEE 26,747,000 *1.75% 469
—oHEE 26,747,000& *0.96% 257
201 Zet2& ] 1,871 2,051 A180
= 141
Al 1,730
01 AFS2t2lHl 1,871 2,051 A180
OMESAIXIIL HAXIE Q14 819
—gg= 45,0003 8 2~ 360
—XItEA 51,0002 *90H 2 459
OMESAIXIL EES M
16,0003 x84 2 *43] 512
OMESAIXIIL AL 2 SHEZH|
60,0002« 1«93 540
2 141
Al 399
AHE2HAH(LF P AUAXIED 31,392 0 31,392
JI2ZH(E 7 2UJAXEDL) 31,392 0 31,392
JI2ZH(EF UJAXED) 31,392 0 31,392
201 LBt 15,552 0 15,552
01 AFS2t2ltl 15,552 0 15,552
ORAN2EII1=24] 15,552
—Bt=ZH| 40,0002 +18F+12&+0.8 6,912
—=24lt| 50,0002 *18E *12&+0.8 8,640
202 04t 12,960 12,960
01 3LHO LI 12,960 12,960
OgRFaD|
120,000& x18F+12&+0.5 12,960
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2A:
REH: &
o e

=aak

MEE
Ofl &k2h

2,880

300,000&%12&+0.8

2,880

2,880
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Al & 0Ol & AFSE Z Ml A
0258 20lat LetelH @Y HIXNAY ~ 27 ZAIDI20)
SN 287 ML
A = W2 otEN &5(2E)
ool FEsh JiE 2el(2d) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ET MR 447,080 579,351 A132,271
= 23,010
Al 424,070
HE WS otE N &#5(23F) 402,056 71,125 330,931
== 23,010
Al 379,046
ZEE M 221(23) 332,653 71,125 261,528
< 23,010
Al 309,643
XA +SUXH(2F) 46,020 71,125 25,106
= 23,010
Al 23,010
101 @124H| 46,020 0 46,020
= 23,010
Al 23,010
04 JIZtN2 2N S 2+ 46,020 0 46,020
OXIZAl At=2te] AR el 46,020
—QI2A4H| 44,020,000 44,020
[ 22,010
Al 22,010
—OdH 2,000,000& 2,000
= 1,000
Al 1,000
KAl 2o 2e(2F) 286,633 286,633
101 21A4H| 23,802 23,802
04 JIZtN2 2N S 2+ 23,802 23,802
OSEHAM JIZEHZZ X+ 2121H] 17,975
==
10,0303 +xBAI 2t * 1 +x22 L «8E 14,123
Ferd
10,0302 *BAI 2t *1H +5F+8E 3,210
— X
10,0302 +BA| 2t 1H 1L +8 642
OSEHoIAM JIZHZ2 24 HE= 3,425
—JlEs
1,910 BAI2H+1H <22 <8E 2,690
]
1,9103 <8AI 2t 1 x5+ 612
— ¢ xg
1,910 +BA| 2t 1H x 12«8 123
OSEHoIAM JIZtN22A 2E8= 2,402
—=glo= 21,400,0002 *4. 5% 963
—22EE 21,400,000 *3.545% 759
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2A:

7 MR

A = W2 otEN &5(2E)
ool FEsh JiE 2el(2d) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LoD Qo E
759,000 *12.95% N9
—IEEE 21,400,000& *1.75% 375
—&HEE 21,400,000 *0.96% 206
201 2= 252,775 252,775
01 At22t2ltl 49,596 49,596
OXIZAl XA QI4f 40,655
— 0NN M H A= £
80& 480,000 38,400
— AN ESE ME
55 *41,0004 2,255
OXZAH E22 M& 642, 1402 +7 2] 4,49
OM=SeHd 22l
48,0002 x122+0.8 461
OM=REd 225 HY 585
—=SAEX 25,0003 192 A 475
—dM ARE(EH S)
55,0002 *2H 110
ONSeIAA ZelE)| XS
150,000 *1CH* 12 1,800
OFSH ADIIFY A% AFTIIL4E
1,600,0002 %12 1,600
2 S52g4l 203,179 0 203,179
OXZH 2ER= 203,179
—S 2,5303%1,63821 122 49,730
—au 4303*29, 73821+ 122 163,449
203 =8| 1,656 1,656
03 A=A PR FZ| 1,656 1,656
OXNH 23 L HABHES Y22
1,656,000 1,656
405 AHAHE S 8,400 8,400
01 AL =S F = 8,400 8,400
OoR#=s s #¢
8,400,000 *1CH 8,400
XA Hg 221(2F) 69,403 0 69,403
Hgztelth 29(2F) 46,854 0 46,854
101 @1A4H| 46,854 0 46,854
04 JIZtNZ22 XS 2+ 46,854 0 46,854
OHME2telEt JI2EMZ 2+ 2121] 35,387
—JlZ2s
10,0303 #7 Al 2++2E x22 2 +9F 27,804
—Tsrd
10,0303 #7 Al 2+x2H +5=+9F 6,319
— %X
10,030 7 Al 2H2E » 1 & <0 1,264
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=M 23T NP

Hu: T

=

= a2 oHEA &5(2E)
el XAl de 22(2F) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMe et JIZtN22 A d2es 6,740
—J=2
1,910 7 Al 2H28 »22 & <0 5,295
-5+
1,910 %7 Al 22 x5 3=+0F 1,204
— Xt
1,910 +7 A 2H2H x 12 +0 241
OHMgaelet JIZHN2 2 288 4,721
—=gd= 42,127,000 *4. 5% 1,89%6
—JdHEE 42,127,000 +3.545% 1,494
—LoEIQAEH
1,494,000 %12.95% 194
—UEEE 42,127,0003+1.75% 738
—&HEE 42,127,000 +0.96% 405
KA Mgte S8 A=(2F) 22,549 22,549
201 2= 21,049 21,049
01 At22t2lt] 8,417 8,417
ORHre BXNOX MHIA =32 7,898
—2Hte 8K MHIA
1543 %22,00021 3,388
—&ALIN A MEIA
4,510,000 4,510
O sdds-28s 228 7Y
43,2003 122 519
2 52434l 12,632 0 12,632
OMegxtg Mgacl SXAAY FA 2= 9,400
— XAl 281 Mg2el AIAE
2,300,000& x2 4,600
—HEXtE SHIAAAL
2,400,000 x2& 4,800
Ozt X8 slidst SMR=
30,0002 #3CH =12 1,080
O=EXE FAl2clbl 2,152
—=28= 600,000 *1CH 600
— NS XAl 100,000 «1CH 100
-S4l 56,0002 1CH =122 672
—==c/H| 65,0002 1CH* 12 780
303 Zal= 1,500 1,500
01 Za= 1,500 1,500
OXZAH Ned= 2oz
1,500,000& 1,500
HY2HZH(L2E R MR 45,024 116,832 71,808
[2ZH(2F 7 H21) 45,024 116,832 AT1,808
Jl2ZH(2F 7 M) 45,024 116,832 AT1,808
201 eer23y| 22,464 46,656 N24 1R
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SN 287 NI
M HHSAAL(FT MDD
)

E9l: JI2EH(LE R NS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 22,464 46,656 N24 1R
ORNEgII=23H 22,464
—2et=ZH| 40,0002 262 »12&+0.8 9,964
—=4| 50,0003 x26H 128 +0.8 12,480
202 04| 18,720 62,208 N43,488
01 =LHOLI 18,720 62,208 N43,488
Oge=&I|1=20H|
120,000 x262 *122+0.5 18,720
203 HE=H] 3,840 7,968 N4128
M A2 LRSI 3,840 7,968 N4,128
ORNEgg =AY
400,000& *12&+0.8 3,840
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Al & 0Ol & AFSE Z Ml A
0265HE 20lat et @+ HINE Y ~ 2L+ TAI02
FA 25 ARSI
M =X A8 (23)
Sl XIYAIE] SXIAIY 283HRY) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7 ARSI 138,463,105 130,494,791 7,998,314
= 111,086,349
[ 1,081,360
Il 1,951,404
< 11,816,189
Al 12,517,803
HOHSEA AS(2F 9,554 11,330 A1,776
KSGAE SXAIY 243H2F) 9,270 11,046 A1,776
SXYR FX NH(2EFH) 9,270 11,046 A1,776
201 fet=23y| 7,104 8,880 A1,776
02 S3=gHl 7,104 8,880 A1,776
O8RS 7,104
-S| 2,5303 %2004+ 128 6.072
—get 4303 «2002 * 122 1,032
203 HF=H| 2,166 2,166 0
03 A= PR FAI| 2,166 2,166 0
OSAAH ge= 2,166,000& 2,166
=0l B5(2%) 284 284 0
OIMeITS(2F) 284 284 0
201 fet=3| 284 284 0
02 s3=gHl 284 284 0
OMHSSEHBAIAH 28 S
23,600 * 1204 & 284
LOIEX =2 E#H(2F) 83,118,331 75,828,540 7,289,791
= 73,913,770
= 3,737,269
Al 5,467,292
Lol oorEs N () 83,118,331 75,828,540 7,289,791
= 73,913,770
[ 3,737,269
Al 5,467,292
22Y AMESA 2SHI(2F) 88,000 83,700 4,300
= 8,800
Al 79,200
307 elzto| & 88,000 83,700 4,300
= 8,800
Al 79,200
1 AMEISXAIEEXS 88,000 83,700 4,300
OZZY AtalSAL =t
88,000,000 88,000
== 8,800
Al 79,200
d2¢ 2Y XA(23) 557,168 549,844 7,324




2 MRS X
D LoIEX e E#i(2E)
Lol KotErEs NR(L

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 32,880
Al 524,288
307 lztol & 557,168 549,844 7,324
= 32,880
Al 524,288
10 MBS XIAIEE 557,168 549,844 7,324
OoZzdg 28 X 328,800,000 328,800
= 32,880
Al 295,920
0Zzg 2% X
228,368,000 228,368
2 NE(2F) 72,000 110,000 238,000
201 er23 | 30,000 50,000 /20,000
2 s5=4g4l 30,000 50,000 A20,000
OBRYAL wls
30,000,000& 30,000
401 Al HIZ S OHHI 42,000 60,000 18,000
01 A28l 42,000 60,000 18,000
O3ZY ZMHE AL 42,000,000 42,000
I=¢3 X=(2E) 82,391,713 75,084,996 7,306,717
= 73,913,770
= 3,695,589
Al 4,782,354
301 EetE NS 82,391,713 75,084,99% 7,306,717
= 73,913,770
= 3,695,589
Al 4,782,354
01 Al EE A S (2 RDEXMR) 82,391,713 75,084,99% 7,306,717
OPJESEE 82,391,713,000& 82,391,713
= 73,913,770
= 3,695,589
Al 4,782,354
olde oHYXIA(2E 9,450 9,450
307 gl2to| & 9,450 9,450
02 2B YAIHE A 9,450 9,450
Od=Z2 & gt X
1,350,0002*7HS 9,450
ZoHel SR BA(2F) 161,695 127,260 34,435
= 1,540
[ 33,015
Al 127,140
QISXIAMHIA 23HREF) 161,695 127,260 34,435
= 1,540




2A:

F ABI=XH

M ZoHe SX s2(E)
ool ZOHISXIMEIA LSHRH) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 33,015
Al 127,140
MAS ZoHQ! XEtHl & AA] X (2F) 3,080 3,080 0
= 1,540
== 231
Al 1,309
301 22N = 3,080 3,080 0
= 1,540
=S 231
Al 1,309
01 Al 2E A S(FRDEXMA) 3,080 3,080 0
OMASZO dHl 2 ZAHEl X
3,080,000 3,080
= 1,540
S 231
Al 1,309
CIHE ZOoH HAH E+2F XNA(23) 10,607 5,040 5,567
[ 3,182
Al 7,425
301 LELEN S 10,607 5,040 5,567
= 3,182
Al 7,425
02 ARSI 2EH 2GS (HAAHS, W) 10,607 5,040 5,567
Ozlgy e tay s+83 728 K&
10,607,000& 10,607
= 3,182
Al 7,425
ZOHQIDL7 HLHEH|(2F) 148,008 119,140 28,868
[ 29,602
Al 118,406
301 LELE NS 148,008 119,140 28,868
= 29,602
Al 118,406
02 A2 EH 2GS (FHAAHS, W) 148,008 119,140 28,868
ORIt Hitet| 148,008,000 148,008
= 29,602
Al 118,406
ZOHQ! MEOHY XR(2F) 4,919,500 4,456,105 463,3%
= 3,262,211
=S 477,361
Al 1,179,928
TRl JZMEEH(2E) 4,919,500 4,456,105 463,3%
= 3,262,211
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2A:

X XH -
o=

F

ZHOHO! MEord XIRA(2F)

T ARI=EX

ni;

i

o
ZOHQ! DI ZMESEE(2F)

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 477,361
Al 1,179,928
F=0l1x) N=S(2F) 574,420 574,420 0
= 402,094
== 120,628
Al 51,698
301 22N = 574,420 574,420 0
= 402,094
=S 120,628
Al 51,698
01 Al 2E A S(FRDEXMA) 574,420 574,420 0
ORMAY(OIZ) X2 574,420,000 574,420
2 402,004
= 120,628
Al 51,698
ZU=E(XARE) N=(2E) 225,472 225,472 0
= 157,831
= 47,349
Al 20,292
301 EtE NS 225,472 225,472 0
= 157,831
= 47,349
Al 20,292
01 Al EEABZ2(2REEMR) 225,472 225,472 0
OZN+=E(HYAS) X2
225,472,000 225,472
= 157,831
= 47,349
Al 20,292
CHIEM=E(2F) 259,200 259,200 0
= 77,760
Al 181,440
301 EtE NS 259,200 259,200 0
== 77,760
Al 181,440
02 ARSI 2E AT S(FIANS, XLETHE) 259,200 259,200 0
OEHI M=~ 259,200,000 259,200
== 77,760
Al 181,440
oz =20 XS(23) 3,860,408 3,397,013 463,3%
= 2,702,286
< 231,624
Al 926,498




SN 2B AEI=XID
I FONOI MEBOIE XIR(SH)
ol ROHQ! DI FMBBR(QE)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 3,860,408 3,397,013 463,3%
= 2,702,286
== 231,624
Al 926,498
01 AR 2EHSHS(RNEXRTHE) 3,860,408 3,397,013 463,3%
ORI 20| N3
3,860,408,000& 3,860,408
= 2,702,286
== 231,624
Al 926,498
OtoIDt =8t SXMEIA HIZB(2F) 16,472,222 20,180,264 A3,708,042
= 6,202,658
s 1,081,360
s 5,034,153
Al 4,154,051
Oeloly X (2F) 1,969,767 1,417,660 552,107
= 78,334
= 1,154,533
Al 736,900
oglold 3I1¥ &I XNA(2E) 41,185 47,982 6,827
s 12,672
Al 28,483
307 @I2t01 & 41,155 47,982 6,827
[ 12,672
Al 28,483
10 Al2IS XA EEE 22X 41,155 47,982 6,827
oolgold 3718871 K&
41,155,000 41,185
= 12,672
Al 28,483
Aot HEESNE Z20Y Y (2E) 55,239 105,900 A\50,661
=S 11,048
Al 44,191
307 21201 & 55,239 105,900 A\50,661
< 11,048
Al 44,191
10 Al2ISTIAIEEE2HIEX 55,239 105,900 250,661
Ogot HEEE=sud Z28 X3
55,239,000 55,239
= 11,048
Al 44,191
FHOIEE 020l 2N (2E) 205,706 271,089 65,384
= 45,457
Al 160,248
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2A: 2EF A=K
& OtOIJt DES._ SAMEIA HMB(2E)
el oElold X (L) (S &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 205,705 271,089 AB5,384
& 45,457
Al 160,248
10 Al SXAEHE2EHIEX 205,705 271,089 A65,384
OZAMIOIEE Helold 2SN
205,705,000 205,705
= 45,457
Al 160,248
ORIAESE O2l0ld 2XJA(LE) 55,229 73,200 A17,971
= 12,893
Al 42,336
307 2I2+01A 55,229 73,200 A17,971
& 12,893
Al 42,336
10 Al SXAEHE2EHIEX 55,229 73,200 A17,971
OO0RIAES 0elold 2g9X&
55,229,000 55,229
= 12,893
Al 42,336
S8 Hel0ly 2ZHI(HEAIY)(2F) 158,695 135,921 22,774
= 139,652
Al 19,043
307 212+01 A 158,695 135,921 22,774
& 139,652
Al 19,043
10 Al SXAEHE2EHIEX 158,695 135,921 22,774
Oz olRI01E 2|
158,695,000& 158,695
& 139,652
Al 19,043
338 Helold 243 XA (A (2Y) 53,810 46,980 6,830
= 16,143
Al 37,667
307 2I2+01A 53,810 46,980 6,830
= 16,143
Al 37,667
10 Al SXAIEHE2ZHIEX 53,810 46,980 6,830
O338 oglold 2ge4dst XA
53,810,000& 53,810
& 16,143
Al 37,667
0glold 2% X (LHw2H)(2A) 30,688 29,688 1,000
= 18,412
& 8,594
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2A: 2EF A=K
& OtOIJt DES._ SAMEIA HB(2H)
cel: ofglolE X3(2H) (Gt H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 3,682
307 gI2Hol M 30,688 29,688 1,000
= 18,412
& 8,594
Al 3,682
10 Al SXAEHE2EHIEX 30,688 29,688 1,000
Onelold 2gX2 (LI H])
30,688,000& 30,6838
= 18,412
& 8,594
Al 3,682
o2lold 2g X2 (2y) 134,800 148,900 214,100
307 QI2Hol 134,800 148,900 214,100
10 Al S XA EEHE2IHIE X 134,800 148,900 214,100
OUeI0IE W - ety 35,600
—& & 5001 0|4t 700,000 *20JH 2~ 14,000
—& & 4921 0|3t 600,000 *36H 2~ 21,600
Ooglold 22l 99,200
— & & 5002 0|4t 1,900,000 *207H 2 38,000
—&& 49021 Olat 1,700,000 #3674 2~ 61,200
0201 2EX(S4aHl £ 22H)(2F) 368,300 558,000 189,700
= 110,490
Al 257,810
307 2I2+01 A 368,300 558,000 A189,700
& 110,490
Al 257,810
10 Al =S XA EBEER2IHIE X 368,300 558,000 A189,700
O0glold 2ZXId(=AaH 2 294l)
368,300,000& 368,300
& 110,490
Al 257,810
AT UEE Helold 24 XNJ(LE) 469,620 0 469,620
= 469,620
307 QI2Hol 469,620 0 469,620
& 469,620
10 IS SXAIEHE2ZHIEX 469,620 0 469,620
OdEU=sHE elold aaHl XA 469,620
& 469,620
FeltE 45M XA (LE) 300,000 0 300,000
= 300,000
307 gI2Hol ™ 300,000 0 300,000
= 300,000
10 Al SEXAIEHE2ZHIEX 300,000 0 300,000
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FA 2T ARSI
S 0tolot DES._ EXAMHIA MBS (2F)
el oElold X (L) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF2IBHE 454 AR
300,000,000& 300,000
= 300,000
olglold 2gX2 (SAAd2AeXE2)(28) 96,526 0 9,526
= 59,922
== 27,964
Al 8,640
307 212+01& 96,526 0 96,526
= 59,922
S 27,964
Al 8,640
10 AlRISXAZEE 22X 96,526 0 96,526
OO0l 2SR (Sad2elXES)
96,526,000 96,526
= 59,922
= 27,964
Al 8,640
ER0ts X (28) 6,562,220 13,416,528 6,844,308
= 4,302,165
= 1,829,838
Al 430,217
tddssg N3 (28) 140,400 416,528 N276,128
= 105,300
= 24,570
Al 10,530
301 EtE N = 140,400 416,528 N276,128
= 105,300
= 24,570
Al 10,530
01 A2 HSHS(RNEERTH) 140,400 416,528 N276,128
Otgeds+4 Xa 140,400,000& 140,400
= 105,300
< 24,570
Al 10,530
R0 XA(2) 5,595,820 12,000,000 £\6,404,180
= 4,196,865
== 979,268
Al 419,687
301 22N = 5,595,820 12,000,000 26,404,180
= 4,196,865
=S 979,268
Al 419,687
01 Al EE AL S(FREXH) 5,595,820 12,000,000 6,404,180




FA 25 ARSI
M 00D #=E BXIMUIA HB(RF)
ool BK0ls X3 (2F) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORZ2s80 X& 5,595,820,000& 5,595,820
= 4,196,865
== 979,268
Al 419,687
FRlNE 2Y X () 826,000 1,000,000 174,000
= 826,000
301 EtE NS 826,000 1,000,000 A174,000
< 826,000
02 MBI 2HASFHS(HAAS, XLHE) 826,000 1,000,000 174,000
O=cltd 22 826,000,000 826,000
= 826,000
ofglold nEY X (2F) 4,645,436 5,346,076 A700,640
= 1,822,159
[ 1,147,371
Al 1,675,906
U0l thHes QiAd|(2F) 6,345 7,080 AT05
S 1,410
Al 4,935
307 elztol & 6,345 7,050 AT05
= 1,410
Al 4,935
10 Al SXAAEEHE 22X 6,345 7,050 AT05
OOGigl0ld UHxels l2H|
6,345,000 6,345
=S 1,410
Al 4,935
OE0lE CHMAL Q124H] XNIJ(2F) 50,000 50,000 0
= 30,000
=S 14,000
Al 6,000
307 21201 & 50,000 50,000 0
= 30,000
= 14,000
Al 6,000
10 AlISXAAZEHE 22X 50,000 50,000 0
OOGI2l0l& UHMwAL Q12|
50,000,000 50,000
= 30,000
= 14,000
Al 6,000
SKNAY AHl XJ(Horrg S)(2F) 542,940 621,000 A\T78,060
= 325,764
= 152,023
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FA 2T ARSI
M 00D #=E BXIMHIA HB(RF)
o2l Of2IoNY DAY XA(2E) (S ® )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 65,153
307 gl2tol & 542,940 621,000 A\T78,060
= 325,764
= 152,023
Al 65,153
10 Al SXAAEEHE2EHI2x 542,940 621,000 AT78,060
OFSTH 01240 X2 (H0EE 5)
542,940,000 542,940
= 325,764
= 152,023
Al 65,153
HE - QI2VOIEl0lE Zel@ el XI(=H)(2E) 234,877 268,800 N33,923
= 50,077
Al 184,800
307 @120l & 234,877 268,800 A33,923
== 50,077
Al 184,800
10 Al SXAIEEHE2EHI2X 234,877 268,800 A33,923
OJFE - IH0jRI0IE Z2le ol2iH] XIR(E
Bl) 234,877,000 234,877
= 50,077
Al 184,800
Ogloly 2x013 X (28) 231,912 239,112 AT,200
307 el2to| & 231,912 239,112 AT,200
10 MEISXAAIEHE2EHIE2X 231,912 239,112 AT7,200
OO0RIHAEOSI0IE EX1AF Q12|
1,042,000 «3E ~ 122 37,512
OJtd - 2I2tofelold =cl¥ elAdl K&
300,000 5400 A+ 123 194,400
SN MRHME X (RARZ2SEZIHNAH)(2F) 699,955 820,000 A 120,045
= 419,973
[ 195,987
Al 83,99%
301 LELE NS 699,955 820,000 A120,045
= 419,973
s 195,987
Al 83,99%
01 Al 2E AL S(FRDEXM) 699,955 820,000 A120,045
O0g0ld WARZRZHe]
699,955,000 699,955
= 419,973
=S 195,987
Al 83,99
SS0HY MRML N (RABH 2F)(2F) 24,407 27,000 2,583
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S 2T MEI=XID
3 Ot0Jt =8 SXMHIA MB(28)
CHel: O2I0ld WA XA (2F) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 14,782
=S 6,898
Al 2,721
301 EetE2 NS 24,407 27,000 A2,593
= 14,782
= 6,898
Al 2,727
01 Al EE AT S (2 RDEXA) 24,407 27,000 A2,593
O0glold wAES & X
24,407,000 24,407
= 14,782
= 6,898
Al 2,727
Helold & HRIMHHl X (L) 590,502 750,000 159,498
== 129,902
Al 460,600
301 22N = 590,502 750,000 159,498
[ 129,902
Al 460,600
02 MBI 2EHSFS(HAANS, XLHE) 530,502 750,000 159,498
O0el0lE WA MR
590,502,000 530,502
= 129,902
Al 460,600
SSWAF HSIEH] FIF X2 (2F) 166,790 180,000 A13,210
s 83,3%
Al 83,39%
301 EtE NS 166,790 180,000 213,210
[ 83,3%
Al 83,3%
02 MBI 2HHSFHS(HAANS, KLHE) 166,790 180,000 A13,210
SFuA MMl =0 XA
166,790,000 166,790
= 83,39%
Al 83,3%
ZOHOL - Ot - CHESHE A S22 24EH(2F) 117,008 200,000 A\B2,992
=S 20,457
Al 96,551
301 EtE NS 117,008 200,000 A\82,992
< 20,457
Al 96,551
02 MBI 2HHSFS(FHAANS, KLHE) 117,008 200,000 A\82,992
OZOHOtEr - HOtet - CH23tEE WA E22
=g 117,008,000 117,008




S 2T MEI=XID
3 Ot0Jt =8 SXMHIA MB(28)
CHel: O2I0ld WA XA (2F) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 20,457
Al 96,551
oglold EsnA =2 (2F) 222,000 284,475 AB2,475
301 EtE N = 222,000 284,475 ANB2,475
02 A2 A6 (FHAAS, NLWE) 222,000 284,475 N\62,475
OO0l ESnEY HED2ed
,000& «260E * 122 156,000
OO0l 2EsuAa &JI25+E 66,000
—5 0l&f 60,0002 x55E « 12& 39,600
—3d Ol&f 40,0002 x55H « 12 26,400
338 O{2I01& AAHI(Z2& )(HEAE)(28) 39,300 34,239 5,061
= 11,790
Al 27,510
307 @120l & 39,300 34,239 5,061
== 11,790
Al 27,510
10 AlRIS XA EEE 22X 39,300 34,239 5,061
O338 02l0ly AAHI(X2IY)
39,300,000& 39,300
= 11,790
Al 27,510
OElold n E+ns(28) 6,400 6,400 0
= 3,840
& 1,792
Al 768
301 EtE NS 6,400 6.400 0
= 3,840
< 1,792
Al 768
14 JIEt2 8= 6.400 6.400 0
O0glold E|nXE Bx1=
6,400,000 6,400
= 3,840
== 1,792
Al 768
SR A NA(2X WA S)(2EF) 1,713,000 1,858,000 145,000
= 1,027,800
== 479,640
Al 205,560
307 212+01& 1,713,000 1,858,000 145,000
= 1,027,800
= 479,640
Al 205,560




A 2EP ASISXI L
M 0010} = ZAMHIA HB(LE)
HRl: O2I01E nAE NA(LN) (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
10 IS SXAIEHE2ZHIEX 1,713,000 1,858,000 A 145,000
SAWAL & HAEMG WAL Q12|
1,713,000,000& 1,713,000
= 1,027,800
= 479,640
Al 205,560
OISEXAIE X2 (2Y) 3,294,799 0 3,294,79
= 1,081,360
= 902,411
Al 1,311,028
K 0ots4HE 24| XA (L) 1,884,960 0 1,884,960
s 2,480
= 471,240
Al 471,240
307 QIZt01A 1,884,960 0 1,884,960
s 942,480
& 471,240
Al 471,240
10 Al S XA EHE2IHIE X 1,884,960 0 1,884,960
OX<0otsSHlE elAddl X2 (=28])
1,884,960,000& 1,884,960
s 942,480
& 471,240
Al 471,240
KEOotsHE olHH] I (LE) 572,103 0 572,103
= 171,631
Al 400,472
307 QIZ2t01 A 572,103 0 572,103
= 171,631
Al 400,472
10 Al SXAIEHE2ZHIEX 572,103 0 572,103
OXIG0otsHlE A8 =LK
572,103,000& 572,103
& 171,631
Al 400,472
II%O}%@H 2YHl NAOI=22ZH|, FI2g8)(L 277,760 0 277,760
&
s 138,880
& 69,440
Al 69,440
307 gI2tol ™ 277,760 0 277,760
s 138,880
& 69,440
Al 69,440
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2A:

K ZH -
oS>

F ABI= X4
OtOIDt =6t SXIMHIA HB(2F)

SRl OISSXAE X(2F) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 277,760 217,760
ONAOIEHE JI=2HH| (=)
266,160,000 266,160
= 133,080
< 66,540
Al 66,540
OXIGOISHE FIH2BHI(24)
11,600,000 11,600
= 5,800
& 2,900
Al 2,900
XHotsHE 228 XN(2F) 36,600 36,600
307 elzto| & 36,600 36,600
10 Al SAAEEHE 22X 36,600 36,600
OXlSotsHE =IH2E8I(AlI8])
36,600,000 36,600
NSAotsHE HoHss 2SX(2F) 41,088 41,088
[ 12,326
Al 28,762
307 glztol & 41,088 41,088
S 12,326
Al 28,762
10 Al SXAIEEHE 22X 41,088 41,088
OXIGOISHE ZSE 298| X
41,088,000& 41,088
= 12,326
Al 28,762
NSAotsHE SSLA X (2F) 240,768 240,768
< 120,384
Al 120,384
307 elztol & 240,768 240,768
S 120,384
Al 120,384
10 Al SXAIEEHE2EHI 22X 240,768 240,768
ONAOISHE SSTA X2
240,768,000 240,768
= 120,384
Al 120,384
NH0tsHE SAER0| 1248 X (2F) 98,820 98,820
307 21201 & 98,820 98,820
10 Al2ISTIAEEE2HIEX 98,820 98,820
OXIHOISHIEl SATS0| Q1216 X
98,820,000 98,820
XHotsHE HMEgst X (2F) 24,500 24,500
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SA: QFR A=K
HZH: 0F0IJF =28 EXAMHIA HM2(2H)

SR OlSEXAIE XA(2H) (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 7,350
Al 17,150
307 212+01 A 24,500 0 24,500
& 7,350
Al 17,150
11 AL =SXAMEES 24,500 0 24,500
OXI0otsHdH ME&sHl K&
24,500,000& 24,500
T 7,350
Al 17,150
KEO0tSHE SMA S4+224E(2d) 85,200 0 85,200
= 17,040
Al 68,160
301 LPENZ 85,200 0 85,200
& 17,040
Al 68,160
02 MBI EZASHS(HUAS, XLTHA) 85,200 0 85,200
OXIGOISHIE BAX S+224Y X
85,200,000& 85,200
T 17,040
Al 68,160
OFSEXIAIE SAHL HRMABI(LY) 33,000 0 33,000
= 33,000
301 LPENZ 33,000 0 33,000
T 33,000
02 MBI EEHHS(HUAS, NLTHEA) 33,000 0 33,000
OXIG0tsHIE SAR HRIH&HI
33,000,000& 33,000
& 33,000
JIE0| & £E2 SAAEIA HS(2F) 2,647,324 2,605,098 42,226
= 2,070
| 1,951,404
T 305,5%6
Al 388,254
SIELRIIE NA(LE) 2,647,324 2,605,098 42,226
= 2,070
J| 1,951,404
= 305,596
Al 388,24
HAS SEDIIE XA (=H)(LE) 203,928 203,928 0
& 61,360
Al 142,568
301 LPENZ 203,928 203,928 0
& 61,360




A 2EP ASISXI L
Hu: JE0| AD| B2 SXMEIA HB(2E)
Eel: BIRIIHE X (2F) (CHe: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 142,568
02 AISIBEEHS(FHLHS, NYME) 203,928 203,928 0
ONAS st22I1=E X2 (=)
203,928,000 203,928
T 61,360
Al 142,568
HAS st22I1E X3 (2H])(2F) 2,428,126 2,371,650 56,476
| 1,942,500
& 242,813
Al 242,813
301 LetENZ 2,428,126 2,371,650 56,476
| 1,942,500
T 242,813
Al 242,813
01 AISIBE X 2GS (2 UEXTME) 2,428,126 2,371,650 56,476
OMAS SERIIE Y=l S XA(=3H])
2,428,126,000& 2,428,126
| 1,942,500
& 242,813
Al 242,813
HAUE st20 X (LH) 11,130 15,120 A3,990
| 8,904
& 1,113
Al 1,113
301 LPENF 11,130 15,120 A3,990
| 8,904
& 1,113
Al 1,113
01 AISIBE XS (2 RETME) 11,130 15,120 A3,990
OFALYE B2 Ots2=dl S K&
11,130,000& 11,130
| 8,904
& 1,113
Al 1,113
HAEEE Ots2sH X2 (2F) 4,140 14,400 A 10,260
= 2,070
& 310
Al 1,760
301 LPBNZ 4,140 14,400 210,260
= 2,070
= 310
Al 1,760
01 AISIBEX LGS (2 REXZE) 4,140 14,400 210,260




SN Q8P AE=XD
M JIR0| AD| B2 SXMHIA HB(LF)
5t

Sol: HEDIIE K(QH) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEAE=22 Ol=2A=H| 2
4,140,000& 4,140
= 2,070
[ 310
Al 1,760
D ZHEEH(2F) 31,069,615 27,221,874 3,847,741
= 27,704,100
= 2,228,7%
Al 1,136,720
NASE JZMEEH(2F) 31,069,615 27,221,874 3,847,741
= 27,704,100
S 2,228,7%
Al 1,136,720
212=T(LE) 1,320,000 2,139,200 A819,200
= 1,056,000
< 132,000
Al 132,000
301 2P EN= 1,320,000 2,139,200 A819,200
= 1,056,000
=S 132,000
Al 132,000
01 Al E2E A S(FRDEXH) 1,320,000 2,139,200 A819,200
(@FdI=1=N 1,320,000,000& 1,320,000
= 1,056,000
= 132,000
Al 132,000
FINEE 2U=28N(2F) 140,615 189,000 48,385
< 30,365
Al 110,250
301 2eEN= 140,615 189,000 A\48,385
& 30,365
Al 110,250
02 MBI 2HHSFHS(HAANS, XLHE) 140,615 189,000 A\48,385
OFIIcE 2US=EX(RESS)
140,615,000 140,615
= 30,365
Al 110,250
I ZMEEY YASH(2E) 29,454,000 24,551,040 4,902,960
= 26,508,600
= 2,061,780
Al 883,620
301 EtE2 N = 29,454,000 24,551,040 4,902,960
= 26,508,600




A 2T ARSI
J

3 2D ZMSET(2F)
ERl: MASE I ZMEER(2E) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,061,780
Al 883,620
01 A2 HSHS(RNEERTH) 29,454,000 24,551,040 4,902,960
OJI=ME8d MAS0
29,454,000,000& 29,454,000
= 26,508,600
< 2,061,780
Al 883,620
HAEHS0H(2F) 155,000 149,137 5,863
= 139,500
[ 4,650
Al 10,850
301 LELEN S 155,000 149,137 5,863
= 139,500
== 4,650
Al 10,850
01 Al 2E A S(SRNEXMHE) 185,000 149,137 5,863
Odll & E S0 155,000,000 185,000
= 139,500
= 4,650
Al 10,850
HY2SAH(2E T AEIEXI1L) 54,864 64,320 N9,45%
JI23H(LEF AtaISXI) 54,864 64,320 A9,45%
J2ZH(LE 7 AtaI=XI) 54,864 64,320 A9,45%
201 Let=23 | 27,648 25,920 1,728
01 At2teltl 27,648 25,920 1,728
OFRANEgII123H 27,648
—2et=Shl 40,0002 x32H128+0.8 12,288
—a=4tl 50,0002 32 12&+0.8 15,360
202 04l 23,280 34,560 211,280
01 2LHoIH 23,280 34,560 A11,280
PR=AI=20H
120,000 322 *12&+0.5 23,040
Os%8 & 0l
20,0008 x 18 x 122 240
203 =] 3,936 3,840 %
M FA2SLRFEI 3,936 3,840 %
ORNSgER=AHI
410,000& x12&+0.8 3,936
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A E A A

o~ QFF TAIDI2
LY P ALt
OtMDt] HHOtsH MEstH X4 (2F)
AlESE ML - THoll CHSMAH 25(2F)
SA BB SL(BH) - NSAY - B 0l o A
QER HA4otE 4,350,862 4,049,854
& 41,500
Al 4,309,362
&Moot Eotsh MEstH XM (2F) 70,718 60,718
AlESE THE - THoll CHEMAH 2= (L) 44,037 38,707
KHATHEE oflg - 22|(2F) 29,017 12,977
201 Let2HH| 23,860 4,172
01 AF222ld| 800 1,612
OYMESA S#HAFEXRIH|
400,000& *23| 800
02 S=294| 23,060 2,660
OMHHMEY 28 ¥ =7Al2eld]
2,000,000& 2,000
OXATHE A5t 2t 23| 20,400
—MUSSAEA X2l
500,000& x35+0.8 1,200
— M HAZAl AAR MES|MH], EI|AF
= 500,000&*12& 6,000
—THLFHARZEAl AAED S K22
1,000, 000& * 12IH A 12,000
—MHoBE AAE S22
125,000& 122 +0.8 1,200
OMHRE B ABZE
55,0002 122 660
203 YR =&IH| 2,157 2,157
03 AMIBFAHRZ=ZIH| 2,157 2,157
OMYTHo S A4ot™ FRFE
2,157,000& 2,157
206 =8l 3,000 3,000
01 MHZHl 3,000 3,000
O - Mol CHE T 2L
3,000,000& 3,000
ASUHll 2Y(2Y) 15,020 14,630
301 LEtBENZ 12,340 11,950
06 ArEHSEUHALIXA 12,340 11,950
OXsdHHSl adIXI& 5,620
—OkAlH] 4,500 *x3% 260! 3,510
—A424 29H| 2,110,000& 2,110
OXsddE=a0 ablXH 6,720
—<==0 160,000 *2CH*12& 3,840
-2 80,0002 *3CH*12& 2,880
307 QIZt0I™ 2,680 2,680
04 QIZFSHAIAIE 2 X 2,680 2,680
OXsgdHHAs l Mt A
2,680,000& 2,680
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SH: QED HLOEDY
A Helst TADIE AlE &#F 2 WSHH PR(REF)
G©elr AEIIHZSA S 221(2F) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL HEZSAH B 22l(2F) 1,285 3,782 N2,497
ALI|AZSAE B 22(2F) 1,285 3,782 N2,497
201 er23| 1,285 3,782 N2,497
01 At2teltl 1,285 1,285 0
OAEINH A2SAMHN &5 225 7Y 585
—PVCIt= 6002 +3000H 180
—EZ X 800 «3000H 240
—Zoiel= 5502 «3000H 165
OAEIIH TEMBIG HP2A AU o
2 700,000 700
cF¥g22(2E) 10,320 0 10,320
24 JYAEE FHI(23) 10,320 0 10,320
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OS2% 22T 8, =3 7Y
7,000,000& 7,000
OMRIBIZIZ RHOET Y T 72
10,400,0002 10,400
O=+= golis gHE ol s 7
20,0003 2571102 5,000
O==U #X&2l& A 7
175,000 *30H A 525
OFYX 017 425 Tt &
100,000 6K A 600
Oz32ydI(RZ0It) =3t & T ¢ 31,480
—AZ20E 44,0002 %5150 *13] 22,660
—3t= 42,0002 2109112 8,820
301 EtE NS 600 1,200 2600
14 0Bt 243 600 1,200 2600
OEXNEZ (ST AH)
600,000& 600
401 AIEHIZ R 0HYI 216,413 237,136 N20,723
01 Al&H| 214,100 234,900 220,800
Otz 8 XEIA
130,000 #370== 48,100
OJtZetd ==SFA2ALISA
45,000,000 45,000
OJtZ2 & U= HISA
21,000,000 21,000
OMaliA=E+5 HUISA
400,000 x1255= 50,000
O4tel AFT MBlSIES2 L DAS F
SAt 500,000% x40 20,000
Otz 24 & 255 FHISA
30,000,000& 30,000
03 Al 20HHI 2,313 2,236 7
Otz 8B SA
48,100,000& *1.08% 520
OJt=2sttt ==FX2cSA
45,000,000&*1.08% 486
OJtZ2+ & U=l ZHISA
21,000,000 *1.08% 221
OMaliE+5 HHISA
50,000,000 *1.08% 540
Oute oIgXl Moll?IE+S & JAS 3
S 20,000,000 *1.08% 216
Oz 24 & 255 FHISA
30,000,000 *1.08% 324
405 AHaHE = 1,650 3,300 21,650
01 AL =S F=HI 1,650 3,300 1,650
Otz & =128 gl 1,650




A 287 ZAOI2
M ASANO =[BE TH(QE)
el SAEE ZH(QEH) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LED 500,000 *1CH 500
—&gJ| 500,000 1CH 500
NI 650,000 *1CH 650
NMHEAE 2E(2F) 201,440 0 201,440
< 100,000
Al 101,440
401 Al HIZL 201 201,440 0 201,440
S 100,000
Al 101,440
01 A&l 200,000 0 200,000
020254 Jt2HY FTHA
200,000,000 200,000
= 100,000
Al 100,000
03 Al 20HHI 1,440 0 1,440
O20265¢ It2=2a AEAMY
200,000,000 *0.72% 1,440
AEARNUHH(2F) 1,152 1,280 A128
201 er23 | 1,182 1,280 A128
01 At2teltl 1,152 1,280 A28
Ot HId2RA S4|
9,000 =2 +80& 0.8 1,182
MSLTHH(BE)(2F) 1,500 1,500 0
s 450
Al 1,050
201 et 3| 1,500 1,500 0
& 450
Al 1,050
01 At2t2ltl 1,500 1,500 0
Odt=2d =t 50,0002 *30CH 1,500
= 450
Al 1,050
ASTSHAFE & 2 (FY)(EF) 2,460 2,460 0
= 984
== 443
Al 1,033
201 er23 | 2,100 2,100 0
= 840
[ 378
Al 882
01 At2t2ltl 2,100 2,100 0
Ott=28 st g4I 6,000& 150 900
= 360




A 287 ZAOI2
M ASANO =[BE TH(QE)
el SAEE ZH(QEH) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 162
Al 378
Ot = | 400,000 *3CH 1,200
= 480
< 216
Al 504
202 04l 360 360 0
= 144
< 65
Al 151
01 2LHoIH 360 360 0
OttEdal £2504| 20,0002 182 360
= 144
== 65
Al 151
;J%!XHSH%XPEl(q3|)(&%@%ml%’!&i}w)(%g)(gm 88,173 106, 170 A17,997
= 35,269
< 15,872
Al 37,032
101 @124H| 85,773 103,370 A17,597
= 34,309
=S 15,440
Al 36,024
04 JIZtN2Z2XNSE+ 85,773 103,370 A17,597
OLSE UL 22X 2124H]
79,102,000 79,102
= 31,641
=S 14,239
Al 33,222
OUSHZULSN 22X 282
6.671,000& 6,671
= 2,668
s 1,201
Al 2,802
201 Ler23 | 2,400 2,800 A400
= 960
=S 432
Al 1,008
01 At 22| 2,400 2,800 A400
OMZYUTBAR 282
400,000 x6H 2,400
= 960
=S 432

3




A 287 ZAOI2
M ASANO =[BE TH(QE)
el SAEE ZH(QEH) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 1,008
ABHHHS LM () 6,703 16,946 10,243
= 3,561
= 943
Al 2,19
101 @1A4H| 6,703 16,946 10,243
= 3,561
= 943
Al 2,19
MU IIRINZZENSES 6,703 16,946 10,243
OLHE Sl SH A JIZHMZZ A Q12|
6,703,000& 6,703
= 3,561
= 943
Al 2,19
A THOH L Kbl (I 2 HIE) (28) 25,250 24,323 927
= 12,681
= 3,602
Al 8,967
101 @124H| 25,250 24,323 927
= 12,681
< 3,602
Al 8,967
M ORNZZ2NSE S 25,250 24,323 927
OatEEHNSHZ M JI2EHMZ2 A 2124H]
25,250,000 25,250
= 12,681
< 3,602
Al 8,967
A THOH L Ktel (G 2 S LX) (2F) 684 755 AT
= 342
== 103
Al 239
201 2= 684 755 AT
= 342
=S 103
Al 239
01 At 2|l 684 755 AT
OWZEYHME It 7 684,000 684
= 342
= 103
Al 239
STLEIPIN(2F) 30,170 23,322 6,848
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FA 25 TAIDZH
M MSANO =XBA TH(QF
el SAEE ZH(QEH) (S &)
SA - B SRIBH) - MRAR - BAS A HIDEZ
= 15,085
=S 4,525
Al 10,560
101 21AH| 24,800 21,711 3,089
= 12,400
= 3,720
Al 8,680
MU IIMZZ2NSES 24,800 21,711 3,089
=t IHES 2|
24,800,000& 24,800
= 12,400
= 3,720
Al 8,680
201 fer=2 3| 5,370 1,611 3,759
= 2,685
= 805
Al 1,880
01 AtR2telHl 5,370 1,611 3,759
=It)| IHES S|
5,370,000 5,370
= 2,685
= 805
Al 1,880
STLZIRIN(LK)(2F) 500 250 250
= 500
201 Let=d] 500 250 250
= 500
01 AtR2tc|Hl 500 250 250
O=JHJ| HEE W=l 500,000 500
= 500
JHRotD BAE DlsEd T8(LE 1,801,122 607,361 1,193,761
UQEEHDIZ 22(2E) 735 1,080 A315
UEHDIZ tHE M 0ES M 735 1,050 2315
201 Zet2d] 735 1,080 A315
01 At2tltl 735 1,050 A315
OUEHDIZ e A DS M
15024 +7000H+70H S 735
R HHelEd 24(23) 1,729,329 571,036 1,158,293
zEd FA(E) 1,526,927 2,774 1,497,153
101 21A4H| 851,256 0 851,256
03 SR (RIH )22+ 851,256 0 851,256
OetZ0lstad 2121H] 851,256
—JlEs 3,784,060 x12H 122 544,904

_58_




SA 2B SAIDIRD
M JHRGHD HHE DI2EE =4(2F)
Chol: JHRE Helsd TH(2F) (Shol: &2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
—JIExg 11,280
- B A 40,0002« 12H*12& 5,760
EHIS 20,0002 12E 128 2,880
KT RHA 110,00024+2% * 122 2,640
—oimazey
30,0353 x 12 +26AI1 2+ 123 112,452
—sgaR4y
120, 1302 % 1222 52 x 12 43,251
—GItE 4| 160, 1862 * 12 x25 48,056
—SEFOHI 2,124,604« 122 =22 50,993
—gAZAHI 140,000 x 12« 12& 20,160
— A3 140,000 « 12 =122 20,160
201 fet= 3| 23,247 29,774 NB,527
01 AtR2tc|HI 4,770 10,878 26,108
OB 01 ol 22
250,000 x2JH 2 500
OJl2yAE 2B
80,0002 +8Y 640
Otdil=ta WaE o E5d|
50,0002 x2&H 100
O&dilsa 1=t 2,310
—&g2 10,0003 +6& 60
—22 10,0003 +6Y 60
— &3t 20,0002 64 120
—&gst 50,0002 64 300
—gst2 10,0003 +6& 60
—&etat 70,0003 +6& 420
—getay 20,0003 64 120
=) 15,0003 +64 0
—&g= 100,000& +6& 600
—2et= 80,000 +6& 480
Odil=zta dEEXI S22 & RaS
A= 1,220
—3SZIH 10,0002 x2&H 220
—Ra= 500,000 x2H 1,000
02 3224l 18,477 18,896 A419
OsZ20IsHe A 23R 16,020
—&Jl= 100,0002 #2JH 2+ 123 2,400
—&ok=E 50,0003 100 A+ 128 600
—HHoIZ+ AFEBR3 (441
155,000& *7CH* 123 13,020
Odileta gty =& F7Hl
1,745360L+ 10+ 123 1,257
OtZ0lstd A A2l & HHR:
]l 200,000 »2)H A +32 1,200
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SN 2P SADBD
HA: NGt HE DISEE £4(2F)
cel: HZE 02Ed 2d(2F) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORHSI| HDIZ el #48
250,000 +8E 2,000
OSHEI| o I A
9,000+ 8« 123 6,912
02 s3=gHl 6,982 18,469 A11,487
ORUE)| g ZAUA 29493 3,040
—&JIRs 10,000 *16CH* 123 1,920
—sAl2ell 70,0002 = 16CH 1,120
ORHEI| &5E 014! (CTV =Al2elb]
70,0002 *33CH 2,310
ORHEI| HEE SERUE AEE
34,0002 =40 =122 1,632
202 04l 2,760 2,280 480
01 =LHN LI 2,760 2,280 480
ORHSE)| & S WF0|
20,0002 x8E*62| 960
ORHEI| t5 28 N 0lsat|
1,500 %68 »203]« 123 1,800
301 2P EN= 800 1,500 AT700
14 JIEt2 8= 800 1,500 AT700
ORHSI 2=
10,0002 +802 800
HH2ALH(L2FF TAI0/2D) 57,542 1,924,618 1,867,076
Jl2Z(E 7 A2 57,542 1,882,707 A1,825,165
JlE2ZH(2F 7 SA0I=21) 57,542 230 57,312
201 2= 38,102 0 38,102
01 At22t2lt] 17,280 0 17,280
ORA2gII1=23H| 17,280
—2Bt=ZH| 40,0002 «20 *122+0.8 7,680
—248l 50,0002 202 »12&+0.8 9,600
02 S3=gHl 20,822 0 20,822
O8RS 8,622
—apt 4303 <2002 * 122 1,032
—S 2,530 %2502+ 12 7,590
Ot & S¥2d Xel g R 12,200
— XS XAl 100,000 2CH 200
—NSAHEE=E 1,200,000 2CH 2,400
— XAl 500,000 x2CH*12& 0.8 9,600
202 04l 16,560 230 16,330
01 =LHA LI 12,960 230 12,730
Oge=dII20H|
120,000 x182x12&+0.5 12,960
02 A0 3,600 0 3,600
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2A:

QFF TAIOI2ut

M HE2LHH(L2F TP TAIOIZD)
CHRl: J12ZUI(2F T TAIDI2D) EEREE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
oSt 328 FHoiy
150,000 x2H 122 3,600
203 PR =&IH| 2,880 2,880
M EAM2EHRFA| 2,880 2,880
ORAN2ILRF&I
300,000& *12&+0.8 2,880
HRES(2EF? TAO20) 1,000 1,000 0
BEXNE(LE T TAIDZDH 1,000 1,000 0
e 2 (&7 SAIDIZD) 1,000 1,000 0
802 BHat3J|Et 1,000 1,000 0
03 J|EtEtE 3 S 1,000 1,000 0
OUEHIIZ2 AHU(2HI)AD 25 &
= 1,000,000& 1,000
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